INERT TR B HER R UALD  amsgians
A A
ITHEX = e % g

BT 554 486 511 997
L HT 92 89 104 193
rf T 47 41 57 98
THET 595 608 644 1,252
FET 507 496 555 1,051
ER AT 396 385 451 836
/M BT 498 538 559 1,097
f;[é B2 257 263 327 590
X FRE 727 828 919 1,747
Fa{EE 286 341 402 743
HigE 158 173 191 364
PN} 740 884 956 1,840
MR FE 270 300 345 645
INRFE2 807 813 946 1,759
INBBRR R & ET 5,934 6,245 6,967 13,212
R 620 632 722 1,354
g2 350 330 401 731
PN % 588 612 728 1,340
[R KR FH1 359 391 448 839
% AR 1,190 1,202 1,326 2528
= KRR T 10 14 24
KirF2 299 340 395 735
RERXEET 3417 3,517 4,034 7,551
EW 346 362 439 801
H< |- E [ Hh 773 787 936 1,723
1R 630 821 890 1,711
_ A 300 361 389 750
= e 115 130 170 300
EJ & 1,368 1,545 1,830 3,375

% = ' ' ' :
X =iR 729 727 880 1,607
=ZEANE 598 700 764 1,464
=EMNE2 538 605 653 1,258
ESa(OLan 441 714 735 1,449
=ERRXEE 5,838 6,752 7,686 14,438
2R 80 85 97 182
5 222 289 296 585
w_E 57 65 74 139
vy =] 61 67 67 134
hva EHS 58 68 84 152
a T#5 30 35 35 70
1 HFE 316 299 392 691
=4 +EH 78 75 97 172
5IR 133 145 164 309
1E3L 60 73 83 156
N5 392 417 454 871
AKX E&E 1,487 1,618 1,843 3,461
TEH 133 127 141 268
, i 62 77 82 159
fil =% 107 130 135 265
E - % 587 762 867 1,629
X EHAL 222 217 257 474
=3 106 115 145 260
R X S5t 1,217 1,428 1,627 3,055
A 73 103 110 213
AT 85 94 105 199
173 J\IR 226 211 269 480
IR e 187 179 228 407
% ki) 206 248 288 536
B T 172 174 199 373
Il 70 85 81 166
LRIRE X & & 1,019 1,094 1,280 2,374
ER il 172 165 173 338
ka1 132 140 141 281
= p N 479 547 518 1,065
g EX5 578 607 612 1,219
% G = 643 615 709 1,324
B KRB 663 694 740 1434
EEE 234 180 54 234
REFRRX G 2,901 2,948 2,947 5,895
o =R 51 35 49 84
L7 HFHMNE 1,511 2,099 2,190 4,289
fgé't EHMNE 1,335 1,962 2,115 4,077
f:i; HTH 355 462 518 980
DNEHDERREEE 3,252 4,558 4,872 9,430
&t 25,065 28,160 31,256 59,416




